_.JIaﬁopaTopHaﬂ padora Ne 5

> restart;

> with (VectorCalculus) :

> with(plots):

1
[> Int(1/sqrt(x),x=0..2)=int(1/sqrt(x),x=0..2);
2
J . x=22 1)
> Int(l/x,x=0..2)=int(1l/x,x=0..2);
2
J L ix=o @)
X
| 0
[ 2
> Int(l/sqgrt(x) ,x=1..+infinity)=int(1/sqrt(x) ,x=1..+infinity);
1
—— dx=o 3)
| =

> Int(1/x"2,x=2..+infinity)=int(1/x*2,x=2..+infinity);

Lo 1
‘[2 5 = )

> Int(l/sqrt(x) ,x=0..+infinity)=int(1/sqrt(x) ,x=0..+infinity);

oo

‘ I )
ly
(> Int(1l/(x*2+1),x=-infinity..+infinity)=int(1/(x*2+1),x=-infinity.
.+infinity) ;
‘ 5 1 dx=m (6)
x +1

- 00




| 4
[> implicitplot (x*2+y~2=4~2,x=-4..4,y=-4..4,thickness=2);

=>-int(1,[x,y]=Circle(‘<,>‘(0, 0),4));

i 16w @)
[ 4, 0 Pi/3
> int(1l, [x,y]=Sector (Circle('<,> (0, 0),4),0,Pi/3));
T ®

(-1,-1), (0,2), (2,0)
> gl:=plot(-x+2,x=0..2,thickness=2):
g2:=plot(1/3*x-2/3,x=-1..2,thickness=2) :
g3:=plot(3*x+2,x=-1..0,thickness=2):
display(gl,g2,g3);




-1 1 2
X
_1_
int(lr[er]=Triangle(\<,>\ (_11 _1)I\<I>\ (2I O)I\<I>\ (OI 2)));
4 C))
=0, y=0, x= Pi/2, y=Pi

gl:=plot([0,t,t=0..Pi], thickness=2):
g2:=plot([Pi/2,t,t=0..Pi],thickness=2):
g3:=plot([t,0,t=0..Pi/2],thickness=2):
gd:=plot([t,Pi,t=0..Pi/2],thickness=2):
display(gl,g2,93,g94);



I
0 0.5

int (1, [x,y]=Rectangle(0..Pi/2,0..Pi));

1 2

—T

2

=-1, y=x+1, x=

gl:=plot(x”*2+4,x=-1..1,thickness=2):
g2:=plot(x+1,x=-1..1,thickness=2) :
g3:=plot([-1,t,t=0..5],thickness=2):
g4:=plot([1l,t,t=2..5],thickness=2):
display(gl,g2,93,94);

1 y=x"2+4

1.5

(10)
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L L L L 1

-1 -0.5 0 0.5 1

X
(> int(1l,[x,y]=Region(-1..1,x+1..x*2+4));
20
: 1

L, a=2, b=3
_>-implicitplot(xA2/4+yA2/9=1,x=—2..2,y=—3..3,thickness=2);




int (1, [x,y]=Ellipse (x*2/4+y~2/9-1)) ;
61 12)

int (x~2+y*2, [x,yl=Circle ('<,> (0, 0), r));
% o (13)

int(y*2, [x,y]=Sector (Circle('<,> (0, 0),r),0,Pi/3));
(.1 1) 4
y ( 8J§4—6n)r (14)
int (x*y, [x,y]=Triangle('<,> (0, 0), '<,> (1, 0), <,> (0, 1)));
1
24
int(sin(x)/x, [x,y] = Rectangle(0..Pi/2,0..Pi/2));

—l&(%n)n (16)

15)

2



int(x+y, [x,y]=Region(0..1,x*2. .x));

3

50 a7n
int(x, [x,y]=Ellipse (x*2/4+y*2/9-1));

0 (18)

int (exp (-x*2-y*2-2*2),[x,y,z]=Sphere(°<,> (0, 0, 0),r));

n(-2r+ 7w erf(r) &) e 19)
int (sin(x) *cos (y) *tan(z), [x,y,z]=Parallelepiped(0..Pi,0..Pi/2,0.
.Pi/4));

In(2) (20)
int (x+y+z, [x,y,z]=Tetrahedron('<,> (0, 0, 0), <,> (1, 0, 0), <,
> (0, 1, 0), <,> (0, 0, 1)));
1

< @y

int (x-y+2*z, [x,y,z]=Region(0..1,-x..x*2,0..x*y));
67

1512 22)



